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chapter THIRTY-SEVEN

International Trade

CHAPTER OVERVIEW

This chapter builds on Chapter 6, providing more analysis of international trade and protectionism.  First, it reviews important facts about world trade.  Second, it examines how international specialization based on comparative advantage can mutually benefit participating nations.  Third, supply and demand analysis is used to help students understand prices and quantities of imports and exports.  Fourth, the economic impact of trade barriers is examined, followed by the arguments for protectionism.  Finally, the chapter discusses the costs of protectionism and some continuing international trade controversies.

LECTURE NOTES

I.
Facts of International Trade:  Highlights

A.
Exports of goods make up about 12% of total U.S. output.

B.
The U.S. leads the world in the volume of exports and imports with about 1/8 of total.

C.
Since 1975 U.S. exports and imports have more than doubled as a percentage of GDP.

D.
In 1999 the U.S. had a goods and services trade deficit of $265 billion dollars.

E.
The principal exports of the U.S. are computers, chemicals, semiconductors, consumer durables, and aircraft.  Its main imports are petroleum, automobiles, computers, and clothing.

F.
The U.S. exports many of the “same” goods it imports.

G.
The bulk of U.S. trade is with other industrialized nations.

H.
Improved transportation and communication has contributed greatly to international trade since WWII.

I.
Although the U.S. still dominates world trade, there are emerging nations around the world that collectively generate substantial international trade such as South Korea, Taiwan, Singapore and China.  Conditions in one nation affect many others.

J.
International trade and finance link economies.

K.
International trade is often at the center of U.S. economic policy.

II.
The Economic Basis for Trade

A.
International trade is a way nations can specialize, increase the productivity of their resources, and realize a larger total output than they otherwise would.

B.
Two points amplify the rationale for trade.

1.
The distribution of economic resources among nations is uneven.

2. Efficient production of various goods requires different technologies or combinations of resources.

3. Products are differentiated among nations and some people prefer imports.

C.
Interaction of these points can be illustrated.

1.
Japan has a large, well‑educated labor force and can specialize in labor‑intensive commodities.

2.
Australia has an abundance of land relative to human and capital resources and can cheaply produce land‑intensive agricultural products.

3.
Industrially advanced nations (including Japan) are in a position to produce capital‑intensive goods.


D.
As national economies evolve, the resource base may be altered affecting the relative efficiency with which nations can produce various goods and services.

III.
Graphical Analysis of the Principle of Comparative Advantage

A.
The basic principle of comparative advantage rests on differing opportunity costs of producing various goods and services.

B.
An example of comparative advantage is developed in Figure 37-1 and Table 37-1 comparing an imaginary example using the U.S. and Brazil.

1.
Before trade, both nations are self‑sufficient in wheat and coffee and produce at the levels shown in Figure 37‑1.

2.
The principle of comparative advantage says that total output will be greatest when each good is produced by the nation that has the lower opportunity cost.  The U.S. has a comparative advantage in wheat production and should specialize in wheat, and Brazil should specialize in coffee as one would expect.

3.
Note in Table 37‑1 that after specialization there will be more coffee and more wheat in total than the totals before specialization.  Total wheat production rose from 26 units of wheat to 30 units of wheat; coffee production rose from 16 to 20.

4.
Since each nation would like some of both goods, they will now have to trade.  The terms of trade will be limited by the original cost conditions in each country.  For example, in the U.S. 1 wheat =1 coffee, so the U.S. will not give up more than 1 wheat for each coffee.  Similarly, in Brazil 1 wheat = 2 coffee, so Brazil will not trade more than 2 coffee for 1 wheat.  These two facts set the limits to the terms of trade.  The rate of exchange will be somewhere between 1 and 2 coffees for each wheat (Figure 37‑2 illustrates these possibilities graphically).  The actual terms of trade within these limits will depend on each country’s negotiating power and world demand and supply conditions for these products.

5.
The gains from trade can be shown by selecting any trade ratio within the limits.  The text selects 1W = 1-1/2C.  If the U.S. chooses to trade 10 tons of wheat for 15 tons of coffee, both nations will be better off than they were when they were self‑sufficient.  Specialization and trade have improved the productivity of their resources.

6.
As a result of specialization and trade, both countries can have more of both products.

7.
The above example assumes constant cost industries, which would not be the case in the real world.  Rather, as the U.S. begins to expand wheat production, its relative costs will rise and likewise with costs of coffee production in Brazil.  The effect of increasing costs is that complete specialization will probably not occur with many products.

C.
The case for free trade is restated in the text:  Through free trade, based on the principle of comparative advantage, the world economy can achieve a more efficient allocation of resources and a higher level of material well‑being.  See Figure 37.2 (Key Graph)

1.
One side benefit from free trade is that it promotes competition and deters monopoly power.

2. Another side benefit may occur as specialization increases the production possibility curve by raising the productivity of the resources devoted to producing certain goods.

3. Try Quick Quiz 37.2.

IV.
Supply and Demand Analysis of Exports and Imports

A.
This analysis helps us understand how prices and quantities of exports and imports are determined in world markets.

1.
The equilibrium world price derives from the interaction of world supply and demand.

2.
The equilibrium domestic price is determined by domestic supply and demand.  It is the price that would prevail in a closed economy with no international trade.

3.
When economies are open to trade, differences between world and domestic prices form the basis for exports or imports.

B.
Supply and demand in the U.S.

1.
Assume first that there are no trade barriers, that Canada is the only other nation in the world, that aluminum is the product in question, and that there are no international transportation costs, to keep the analysis simple.

2.
Figure 37.3a shows the domestic supply and demand curves for aluminum in the U.S. with an equilibrium price of $1 per pound and an equilibrium quantity of 100 million pounds.

3.
If the world price exceeds $1, American firms will increase production and export the excess output to the rest of the world (Canada).

a.
If the world price is $1.25, then American producers will supply 50 million pounds for export.  (See Figure 37.3)

b.
If the world price rises to $1.50, Americans will have 100 million pounds to export, because domestic consumers will buy only 50 million pounds at that price.

c.
The American export supply curve is found in Figure 37.3b by plotting the domestic surpluses occurring at world prices above the $1 domestic equilibrium price.  When world prices rise relative to American domestic prices, U.S. exports rise.

4.
U.S. import demand will be shown by the Figure 37.3b plot of the excess domestic demand created if prices fall below the $1 domestic equilibrium price.  The downsloping curve shows the amount of aluminum imported by the U.S. at prices below the $1 American domestic price.  When world prices fall relative to domestic prices, American imports rise.

C.
Supply and demand of aluminum in Canada can be depicted in a similar manner, as shown in Figure 37.4.  The prices have been converted into U.S. dollar equivalents using the exchange rate mechanism discussed in Chapters 6 and 38.

1.
Canada’s import demand curve represents domestic shortages in Canada when the world price falls below the $.75 domestic Canadian price.

2.
Canada’s export supply curve represents domestic surpluses in Canada when the world price is above the $.75 Canadian domestic price.

D.
Determination of the equilibrium world price, of exports and imports is illustrated in Figure 37.5.

1.
Equilibrium occurs in this two-nation model where one nation’s import demand curve intersects another nation’s export supply curve.  In this example, this occurs at a price of $.88.

2.
At the $.88 world price, the domestic prices in both Canada and the U.S. will also be $.88.

E.
Canada will export aluminum to gain earnings to buy other goods, such as computer software, that are made in the United States.  These exports enable Canadians to acquire imports that have greater value to them than exported aluminum.  Otherwise, they would be willing to pay more than $.88 per pound for aluminum.  (Key Question 8)

V. Trade Barriers: Barriers to free trade do exist.
A.
Types of barriers:


1.
Tariffs are excise taxes on imports and may be used for revenue purposes, or more commonly as  protective tariffs that protect domestic producers from foreign competition by raising import prices.


2.
Import quotas specify the maximum amounts of imports allowed in a certain period of time.  Low import quotas may be a more effective protective device than tariffs, which do not limit the amount of goods  entering a country.


3.
Nontariff barriers refer to licensing requirements, unreasonable standards, or bureaucratic red tape in customs procedures.


4.
Voluntary export restrictions are agreements by foreign firms to “voluntarily” limit their exports to a particular country.  Japan has voluntary limits on its auto exports to the United States.

B.
The economic impact of tariffs is shown in Figure 37.6.  With free trade, consumption will take place at the world price Pw, and domestic production will be 0a with imports making up the difference, ad.  There are 4 direct effects.

1.
When the tariff is imposed, domestic consumption declines to 0c as the price rises to Pt.

2.
Domestic production will rise to 0b because the price has risen.

3.
Imports fall to bc from ad.

4.
Government tariff revenue will represent a transfer of income from consumers to government.

5.
One indirect effect also may occur in that relatively inefficient industries are expanding and relatively efficient industries abroad have been made to contract.

C.
The economic impact of quotas is similar to tariffs, but worse because no revenue is generated for the government; the higher price results in more revenue per unit for the foreign producer.  After the quota, the price will rise to Pt as with the tariff, but the entire amount of revenue generated by the higher price will go to the foreign and domestic producers supplying the product at price Pt.  Also, there is no possibility for consumers to obtain more than the allowed quota, even at higher prices.

VI.
The Case for Protection:  A Critical Review

A.
Military self‑sufficiency may be a valid political‑economic argument for protecting industries that are critical to national defense.  The argument is that the country cannot be dependent on other countries for its  national defense.  However, the problem with this rationale is that nearly every industry is critical in one way or another.  It is difficult to select strategic industries to protect.  Also, most goods are produced in many places, so dependency on one is not likely.

B.
Increasing domestic employment is the most popular reason for protection, but there are important shortcomings associated with this reasoning.

1.
Imports may eliminate some jobs, but they create others in the sales and service industries for these products.

2.
The fallacy of composition applies here.  The imports of one nation are the exports of another.  By achieving short‑term employment goals at home, the trading partner may be made weaker and less able to buy the protectionist nation’s products.

3.
Retaliation is a risk that occurred in the 1930s when high tariffs were imposed by the U.S. Smoot‑Hawley Tariff Act of 1930.  Protectionism against American goods will hurt our export industries.  Such trade wars still erupt today although the WTO helps to eliminate the problem.

4.
Long‑run feedbacks relate to the fact that continued excess of exports over imports leads to a shortage of dollars abroad, which foreigners need to purchase more American goods and services; a nation must import in order to export.

C.
Diversification for stability may be a legitimate reason for a nation to protect certain industries until they become viable.  For example, Saudi Arabia may not always be able to depend on oil exports nor Cuba on sugar exports.  They need to develop other industries.

1.
This argument does not apply to the U.S. or other diversified economies.

2.
The economic costs of diversification may be great and not worth the protection.

D.
The infant‑industry argument is similar to the diversification argument for protection.  New industries allegedly may need “temporary” protection to gain productive efficiency.  But qualifications must be noted.

1.
It is difficult to determine which industries are the best to protect.

2.
Protection may persist after industrial maturity is realized.

3.
Direct subsidies may be preferable to international protection.

E.
Strategic trade policy has been successful in Japan and South Korea, but there is still a danger of retaliation by affected nations.  Affected nations can implement tariffs in response.

F.
Protection against “dumping” is another argument for tariffs when nations “dump” excess products onto U.S. markets at below cost.

1.
These firms may be trying to drive out U.S. competition.

2.
Dumping can be a form of price discrimination.

3.
Dumping is a legitimate concern and is prohibited under U.S. trade law.  The Federal government has the right to impose antidumping duties (tariffs) on the goods that were “dumped,” but it may be difficult to prove the below‑cost sales in the first place.

G.
Protection is said to be needed against the competition from cheap foreign labor.  However, this argument is not valid.  It is mutually beneficial for rich and poor to trade with one another.  By not trading, we don’t raise our living standards at all, but we will decrease them by shifting labor into inefficient areas where the foreign labor could have produced the items more efficiently.

H. A summary of arguments suggests that only two arguments for protection are really valid and they are tough to apply.  The infant‑industry argument and the military self‑sufficiency argument may be justifiable on political grounds.  Most other arguments are based on emotional half‑truths or outright fallacies.  Evidence of the results of protectionism shows that it has not had positive effects.

I. Summing Up:

1.
Within the U.S., the Constitution says states cannot prevent trade, so we have a prosperous, huge free‑trade area.

2.
The European Union has prospered as trade barriers have been eliminated.

3.
The world economy has grown under the trend toward more tariff reduction since the mid‑1930s.

4.
High tariffs were a factor in causing the Great Depression.

5.
Nations with high protectionist policies have slower growth than those with no barriers.

VII.
The World Trade Organization

A. Inefficiencies of protectionism have led nations to seek ways to promote free trade.

B. In 1994 the more than 120 member nations of the World Trade Organization (WTO) agreed to implement several policies by 2005.  These policies include:

1. Reduce tariffs worldwide.

2. New rules to promote service trade.

3. Reduction in agricultural subsidies that protect less efficient farmers.

4. New protection for intellectual property.

5. Phasing out of quotas on textiles and clothing replacing them with gradually declining tariffs.

C. These policies are predicted to boost trade by 8% or $6 trillion.

D. WTO today.

1. 138 nations belong in 2000.

2. Organization oversees provisions of agreement and resolves disputes.

3. Has become a protest target of groups who are against various aspects of globalization.

E. Economists favor free trade with labor and environmental protections.

Chapter Thirty-Eight

Exchange Rates,
the Balance of Power,
and Trade Deficits

CHAPTER OVERVIEW

This chapter addresses several important aspects of international trade.  The chapter begins with a brief discussion of how trade is financed.  Next the balance of payments is explained and examined.  Exchange rate systems and  balance of payments adjustments under each system are then analyzed.  The section concludes with a discussion of the advantages and disadvantages of each.  The history of major policies is summarized, beginning with the gold standard, continuing through the Bretton Woods system, and concluding with the periods of managed float and of freely floating exchange rates.  Finally, the chapter looks at the trade deficits of recent years and examines the causes and effects of these deficits.

INSTRUCTIONAL OBJECTIVES

After completing this chapter, students should be able to:

1.     Explain how U.S. exports create a demand for dollars and a supply of foreign exchange; and how U.S. imports create a demand for foreign exchange and a supply of dollars.

2.     Explain and identify the various components of the balance of payments.

3.     Identify trade and balance of payments deficits or surpluses when given appropriate data.

4.     Explain how a nation finances a “deficit” and what it does with a “surplus.”

5.     Explain how exchange rates are determined in a flexible system.

6.     Explain how flexible exchange rates eliminate balance of payments disequilibria.

7.     List five determinants of exchange rates.

8.     List three disadvantages of flexible exchange rates.

9.     List three ways a nation could control exchange rates under a fixed‑rate system.

10.     Describe a system based on the gold standard, the Bretton Woods system, and a managed float exchange rate system.

11.     Describe two effects of a trade deficit.

12.     Define and identify terms and concepts listed at the end of the chapter.

LECTURE NOTES

I.
Financing International Trade

A.
Foreign exchange markets enable international transactions to take place by providing markets for the exchange of national currencies.

B.
An American export transaction is explained below.

1.
U.S. firm is selling $300,000 worth of computers to British firm.

2.
Imagine the exchange rate is $2 = 1 Br. pound, so the British firm must pay 150,000 pounds.

3.
The British firm will draw a check on its deposit at a London bank for 150,000 pounds, and will send it to the U.S. exporter.

4.
The exporter sells the British check to an American bank for $300,000 in exchange for the British check, and the exporter’s account is credited.

5.
The American bank will deposit the 150,000 pounds in a correspondent London bank for future sale.

6.
Note the major points here.

a.
Exports create a demand for dollars and a supply of foreign money, in this case British pounds.

b.
The financing of an American export reduces the supply of money (demand deposits) in Britain and increases it in the U.S.

C.
An American import transaction example illustrates how a British exporter is paid in pounds while the importer pays dollars.

1.
A U.S. firm is buying 150,000 pounds worth of compact discs from Britain.

2.
The exchange rate remains at $2 = 1 Br. pound, so the American purchaser must exchange its $300,000 for 150,000 Br. pounds at an American bank—perhaps the same one as in the export example.

3.
The American bank will give up its 150,000 pounds in the London bank to the importer, who will pay the British compact discs exporter, who will deposit the money in the exporter’s bank.

4.
Again note the major points.

a.
The financing of American imports reduces the supply of money (demand deposits) in the U.S. and increases it in the exporting country, Britain.

b.
Imports create a demand for foreign currency (pounds in this case) and a supply of U.S. currency.

II.
The Balance of Payments  (Table 38.1 summarizes the balance for 1999)

A.
A nation’s balance of payments is the sum of all transactions that take place between its residents and the residents of all foreign nations.  These transactions include merchandise exports and imports, tourist expenditures, and interest plus dividends from the sale and purchases of financial assets abroad.  The balance of payments account is subdivided into three components:  the current account, the capital account, and the official reserves account.

B.
Current Accounts is shown in top portion of Table 38.1.  The main entries are:

1.
The current account summarizes U.S. trade in currently produced goods and services.

2.
The merchandise trade balance is the difference between its exports and imports of goods.

3.
The balance on goods and services, shown in (line 7) Table 38.1 is the difference between U.S. exports of goods and services (items 1 and 4) and U.S. imports of goods and services (items 2 and 5).

4.
Balance on the current account is found by adding all transactions in the current account (item 10, Table 38.1).

5.
Global Perspective 38.1 gives trade balance for other nations.

C.
Capital Account:

1.
The capital account summarizes the flows of payments (money “capital”) from the purchase or sale of real or financial assets.

2.
For example, a foreign firm may buy a real asset, say an office tower in the U.S., or a U.S. government bond.  Both kinds of transactions involve the “export” of the ownership of U.S. assets from the United States in return for payments of foreign currency (money “capital”) inflows.

3.
The balance in the capital account was $322 billion in 1999.  (Line 12, Table 38-1)

D.
Official Reserves Account:


The third account in the overall balance of payments is the official reserves account.  The central banks of nations hold quantities of foreign currencies called official reserves.  These reserves can be drawn on to make up any net deficit in the combined current and capital accounts (much as you would draw on your savings to pay for a special purchase).  In 1999 this was $9 billion (Line 10 minus Line 13).

E.
Payments Deficits and Surpluses:  (See Lines 10 minus Line 13 in Table 38.1)

1.
A drawing down of official reserves measures a nation’s balance of payments deficit; a building up of official reserves measures its balance of payments surpluses.  Adding to foreign reserves would occur if there is a surplus.

2.
A balance of payments deficit is not necessarily bad, nor is a balance of payments surplus necessarily good.  However, persistent payments deficits would ultimately deplete the foreign exchange reserves.

3.
To correct its balance of payments deficit, a nation might implement a major depreciation of its currency or other policies to encourage exports.

III.
Flexible Exchange Rates

A.
Freely floating exchange rates are determined by the forces of demand and supply.  Figure 
38.1 (Key Graph) illustrates the exchange rate (price) for British pounds in American dollars.

1.
The demand for any currency is downsloping because as the currency becomes less expensive, people will be able to buy more of that nation’s goods and, therefore, want larger quantities of the currency.

2.
The supply of any currency is upsloping because as its price rises, holders of that currency can obtain other currencies more cheaply and will want to buy more imported goods and, therefore, will give up more of their currency to obtain other currencies.

3.
As with other commodities, the intersection of the supply and demand curves for a currency (pounds in Figure 38.1) will determine the price or exchange rate.  In the example it is $2 to 1 pound.

B.
Depreciation means the value of a currency has fallen; it takes more units of that country’s currency to buy another country’s currency.  $3 for 1 pound would be a depreciation of the dollar, compared to the original example of $2 per pound.

C.
Appreciation means the value of a currency or its purchasing power has risen; it takes less of that currency to buy another country’s currency.  $1 = 1 pound would be an appreciation of the dollar relative to the pound.

D.
Determinants of exchange rates are the forces that cause the demand or supply curves to shift.

1.
Changes in tastes or preferences for a country’s products would shift the demand for the currency as well.

2.
Relative income changes will cause changes in the demand and supply of currencies.  Rising incomes increase the demand for imports, which increases the supply of that country’s currency and the demand for other country’s currencies.

3.
Relative price changes will cause changes in the demand and supply of currencies.  If American prices rise relative to British prices, this will increase the demand for British goods and pounds; conversely, it will reduce the supply of pounds as British purchase fewer American goods.  The theory of purchasing power parity asserts that exchange rates will change to maintain a uniform price in one currency, e.g., dollars, for each product across countries.

4.
Changes in relative real interest rates will affect the demand and supply of currencies.  Higher U.S. interest rates attract foreign savings; hence, they raise the demand for dollars and reduce the supply of dollars as U.S. investment dollars may remain in this country.

5.
Speculation is another determinant.  If one believes the value of a currency is about to fall, it will increase the supply of that currency and reduce its demand.  Likewise, if one believes the value of a currency is about to rise, it will increase its demand and reduce its supply as people want to hold that currency.  Note that such predictions can be self‑fulfilling prophecies, since the change in demand is in the direction of the prediction.  (Table 38.2)

E.
Theoretically, flexible rates have the virtue of automatically correcting any imbalance in the balance of payments.  If there is a deficit in the balance of payments, this means that there will be a surplus of that currency and its value will depreciate.  As depreciation occurs, prices for goods and services from that country become more attractive and the demand for them will rise.  At the same time, imports become more costly as it takes more currency to buy foreign goods and services.  With rising exports and falling imports, the deficit is eventually corrected (Figure 38.2 illustrates this).

F.
There are some disadvantages to flexible exchange rates.

1.
Uncertainty and diminished trade may result if traders cannot count on future prices of exchange rates, which affect the value of their planned transactions.  (However, see Last Word for this chapter for ways in which traders can avoid risk.)

2.
Terms of trade may be worsened by a decline in the value of a nation’s currency.

3.
Unstable exchange rates can destabilize a nation’s economy.  This is especially true for nations whose exports and imports are a substantial part of their GDPs.

IV.
Fixed Exchange Rates

A.
Fixed exchange rates are those that are pegged to some set value, such as gold or the U.S. dollar.

B.
Official reserves are used to correct an imbalance in the balance of payments, since exchange rates cannot fluctuate to bring about automatic balance.  This is called currency intervention.

C.
Trade policies directly controlling the amount of trade and finance might be used to avoid imbalance in trade and payments.

D.
Exchange controls and rationing of currency have been used in the past but are objectionable for several reasons.

1.
Controls distort efficient patterns of trade.

2.
Rationing involves favoritism among importers.

3.
Rationing reduces freedom of consumer choice.

4.
Enforcement problems are likely as “black market” rates develop.

E.
Domestic macroeconomic adjustments may be more difficult under fixed rates.  For example, a persistent deficit of trade may call for tight monetary and fiscal policies to reduce prices, which raises exports and reduces imports.  Such contractionary policies can also cause recessions and unemployment, however.

V.
International Exchange Rate Systems

A.
The gold standard was the international system used during the 1879‑1934 period.  It provided for fixed exchange rates in terms of a certain amount of currency for an ounce of gold.  Under this system, each nation must:

1.
Maintain a fixed relationship between the stock of gold and the money supply.

2.
Gold flows would maintain the fixed rate.  If the dollar appreciated, gold would flow into the U.S.; if it depreciated, gold would flow out.  These flows would keep the value of the currencies at their fixed rates.

3.
Figure 38.2 helps explain the domestic macroeconomic adjustments that would occur.  If gold flowed into a country, its money supply would increase because the gold/money ratio is fixed.  Therefore, when the dollar appreciated, the U.S. money supply would increase proportionately to the gold increase.  A rise in the money supply would cause U.S. incomes and prices to rise and would increase our demand for foreign goods, while the demand for U.S. exports declined.  Such a change in the balance of trade would cause the dollar to depreciate again.  In other word, a gold standard causes domestic adjustments.  This is its major disadvantage.

4.
The advantages are stable exchange rate and automatic adjustments in balance of payments.

5.
The worldwide Depression of the 1930s ended the gold standard, because improving economic conditions became the main goal of national policies.

B.
The Bretton Woods system was enacted following World War II by the leading industrialized western nations.  It had two main features.

1.
The International Monetary Fund (IMF) was created to hold and lend official reserves.  Included in official reserves was a new kind of international governmental currency called Special Drawing Rights (SDRs).

2.
Pegged exchange rates were initiated, which were adjustable when a fundamental imbalance was recognized.  The rates were maintained by government intervention in the supply and demand of currencies.

a.
Governments could spend or purchase currencies directly.

b.
Gold could be bought or sold by governments.

c.
IMF borrowing could take place from the required accounts that nations had at the International Monetary Fund.

3.
The pegged rates could be changed (adjusted) when there were persistent problems with the balance of payments using the existing rate.  A persistent deficit could lead to devaluation (depreciation).

4.
The Bretton Woods system was abandoned as nations acquired more and more dollars, and the U.S. abandoned its pledge to convert dollars into gold in 1971.  This led to a flexible exchange rate for the dollar and, therefore, flexible rates for every other major currency that was related to the dollar.

C.
The current system is really a “managed float” exchange rate system in which governments attempt to prevent rates from changing too rapidly in the short term.  For example, in 1987, the G-7 nations—U.S., Germany, Japan, Britain, France, Italy, and Canada—agreed to stabilize the value of the dollar, which had declined rapidly in the previous two years.  They purchased large amounts of dollars to prop up the dollar’s value.  Since 1987 the G-7 has periodically intervened in foreign exchange markets to stabilize currency values.

1.
In support of the managed float.

a.
Trade has expanded and not diminished under this system as some predicted it might.

b.
Flexible rates have allowed international adjustments to take place without domestic upheaval when there has been economic turbulence in some areas of the world.

2.
Concerns with the managed float.

a.
Much volatility occurs without the balance of payments adjustments  predicted.

b.
There is no real system in the current system.  It is too unpredictable.

VI.
Recent U.S. Trade Deficits

A.
In 1999 the current account deficit in U.S. was $331 billion.  (Figure 38.3)

B.
Causes of the trade deficit.

1.
Since 1992 the U.S. economy has grown more rapidly than the economies of several major trading nations.  This growth of income has boosted U.S. purchases of foreign goods.  In contrast, Japan, some European nations, and Canada have suffered recessions or slow income growth during this period.

2.
Also, a declining savings rate in the U.S. has contributed to U.S. trade deficits and an increase in foreign investment in U.S.

C.
Implications of U.S. trade deficits

1.
A trade deficit means that the U.S. is receiving more goods and services as imports from abroad than it is sending out as exports.  The gain in present consumption may come at the expense of reduced future consumption.

2.
A trade deficit is considered “unfavorable” because it must be financed by borrowing from the rest of the world, selling off assets or dipping into foreign currency reserves.  In 1999, foreigners owned $1.5 billion more assets in U.S. than Americans owned in foreign assets.

3.
Therefore, the current consumption gains delivered by U.S. trade deficits mean permanent debt, permanent foreign ownership, or large sacrifices of future consumption.  But it could also mean higher economic growth as foreign investment expands our capital base.
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